Problem 13.20

Use source transformation to solve problem 13.19.
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Suggested Solution


[image: image2.wmf]1S

2/S

1

W

1

W

+







V

0





_

4/S

2/S



[image: image3.wmf]2

22

11

2

0

1

1

1142

()

22/

(22)(24)

()

(22)

1

()()

22/

(24)

()

(22)11

(24)

245

(1)

I

I

OI

O

Sr

VS

SSSS

SSS

VS

SSS

VSVS

S

SKK

VS

SSSrSr

S

K

Sr

=-+

éù

+=+

êú

+

ëû

++

=

++

éù

=

êú

+

ëû

+

==+

+++-++

+

==-

+-



[image: image4.wmf]0

1

1

00

0

(24)

245

(1)

245245

()

(1)(1)

()22(45)()

Sr

O

t

O

S

K

Sr

VS

SrSr

VteCOStutV

=-+

-

+

==-

+-

--

=+

+-++

=-


_1051977355.bin

_1052225012.unknown

_1052225027.unknown

_1051977234.bin

